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call
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pushl  %ebp
movl %esp, %ebp
movl 8(%ebp), %eax
addl $2, %eax
popl %ebp
ret
pushl  %ebp
movl %esp, %ebp
subl $4, %esp
movl 8(%ebp), %eax
mov 1 %eax, (%esp)
call g
leave
ret

main:
pushl  %ebp
movl %esp, %ebp
subl $4, %esp
movl $3, (%esp)
call f
addl $1, %eax
leave
ret
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pushl  %ebp
movl %esp, %ebp
movl 8(%ebp), %eax
addl $2, %eax
popl %ebp
ret
pushl  %ebp
movl %esp, %ebp
subl $4, %esp
movl 8(%ebp), %eax
movl %eax, (%esp)
call g
leave
ret

main:
pushl  %ebp
movl %esp, %ebp
subl $4, %esp
movl $3, (%esp)
call f
addl $1, %eax
leave
ret
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2 pushl  %ebp

3 movl %esp, %ebp -
4 movl 8(%ebp), %eax

5 addl $2, %eax 3

6 popl %ebp

7 ret \

8 #: fi& [5] Hh ik
9 pushl  %ebp

10 movl %esp, %ebp Ebp

11 subl $4, %esp

12 movl 8(%ebp), %eax
13 movl %eax, (%esp)
14 call g

15 leave
16 ret
17 main:

18 pushl  %ebp

19 movl %esp, %ebp
20 subl $4, %esp
21 movl $3, (%esp)
22 call f

23 addl $1, %eax
24 leave

25 ret
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pushl  %ebp
movl %esp, %ebp
movl 8(%ebp), %eax
addl $2, %eax
popl %ebp
ret
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pushl  %ebp
movl %esp, %ebp
subl $4, %esp
movl 8(%ebp), %eax
mov 1 %eax, (%esp)
call g
leave
ret

main:
pushl  %ebp
movl %esp, %ebp
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movl $3, (%esp)
call f
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leave
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pushl  %ebp
movl %esp, %ebp
movl 8(%ebp), %eax
addl $2, %eax
popl %ebp
ret
pushl  %ebp
movl %esp, %ebp
subl $4, %esp
movl 8(%ebp), %eax
movl %eax, (%esp)
call g
leave
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call f
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leave
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2 pushl  %ebp

3 movl %esp, %ebp

4 movl 8(%ebp), %eax
5 addl $2, %eax

6 popl %ebp

4 ret

8 f:

9 pushl  %ebp

10 movl %esp, %ebp

11 subl $4, %esp

12 movl 8(%ebp), %eax
13 movl %eax, (%esp)
14 call g

15 leave

16 ret

17 main:

18 pushl  %ebp

19 movl %esp, %ebp
20 subl $4, %esp
21 movl $3, (%esp)
22 call f
23 addl $1, %eax
24 leave
25 ret
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pushl  %ebp
movl %esp, %ebp
movl 8(%ebp), %eax
addl $2, %eax
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ret
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movl %esp, %ebp
subl $4, %esp
movl 8(%ebp), %eax
movl %eax, (%esp)
call g
leave
ret

main:
pushl  %ebp
movl %esp, %ebp
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mov1l $3, (%esp)
call f
addl $1, %eax
leave
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pushl  %ebp
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call f
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pushl  %ebp
movl %esp, %ebp
movl 8(%ebp), %eax
addl $2, %eax
popl %ebp
ret
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pushl  %ebp
movl %esp, %ebp
subl $4, %esp
movl 8(%ebp), %eax
movl %eax, (%esp)
call g
leave
ret

main:
pushl  %ebp
mov 1 %esp, %ebp
subl $4, %esp
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call f
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main:
pushl
mov L
subl
movl
call
addl
leave
ret
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1 BAES

2 pushl  %ebp

3 movl %esp, %ebp -
4 movl 8(%ebp), %eax

5 addl $2, %eax 3

6 popl %ebp

4 ret \

8 #: fi& [5] Hh ik
9 pushl  %ebp

10 movl %esp, %ebp Ebp
11 subl $4, %esp

12 movl 8(%ebp), %eax 3

13 movl %eax, (%esp)

14 call g

15 leave gi& [m] M bk
16 ret

17 main:

18 pushl  %ebp Ebp

19 mov 1 %esp, %ebp
20 subl $4, %esp
21 movl $3, (%esp)
22 call f

23 addl $1, %eax
24 leave

25 ret
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1 BAES

2 pushl  %ebp

3 movl %esp, %ebp -
4 movl 8(%ebp), %eax

5 addl $2, %eax 3

6 popl %ebp

4 ret \

8 #: fi& [5] Hh ik
9 pushl  %ebp

10 movl %esp, %ebp Ebp
11 subl $4, %esp

12 movl 8(%ebp), %eax 3

13 movl %eax, (%esp)

14 call g

15 leave gi& [m] M bk
16 ret

17 main:

18 pushl  %ebp Ebp

19 mov 1 %esp, %ebp
20 subl $4, %esp
21 movl $3, (%esp)
22 call f

23 addl $1, %eax
24 leave

25 ret
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pushl  %ebp
movl %esp, %ebp
movl 8(%ebp), %eax
addl $2, %eax
popl %ebp
ret
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pushl  %ebp
movl %esp, %ebp
subl $4, %esp
movl 8(%ebp), %eax
movl %eax, (%esp)
call g
leave
ret

main:
pushl  %ebp
movl %esp, %ebp
subl $4, %esp
movl $3, (%esp)
call f
addl $1, %eax
leave
ret
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pushl  %ebp 1
movl %esp, %ebp -
movl 8(%ebp), %eax
addl  $2, %eax 3
popl %ebp
ret >
. fi& [5] Hh ik
pushl  %ebp
mov 1 %esp, %ebp
subl $4, %esp Ebp i
movl 8(%ebp), %eax 3 ﬁiki
movl %eax, (%esp) 5
call g N
leave
ret
main:
pushl  %ebp
mov 1 %esp, %ebp
subl $4, %esp
movl $3, (%esp)
call f
addl $1, %eax
leave
ret
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pushl
movl
subl
movl
call
addl
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o BALS
pushl  %ebp - 4
movl %esp, %ebp -
movl 8(%ebp), %eax
addl $2, %eax -
popl %ebp
ret
-
pushl  %ebp
movl %esp, %ebp
subl $4, %esp Hh
movl 8(%ebp), %eax %&
movl  %eax, (%esp) B
call g K
leave
ret
main:
pushl  %ebp
mov 1 %esp, %ebp
subl $4, %esp
movl $3, (%esp)
call f
addl $1, %eax
leave
ret
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